CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL
ENGLISH)

P - BLOCK ELEMENTS - |

Evaluation Choose The Correct Answer

1. An aqueous solution of borax is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_j5PswBAujqTw

A. neutral

B. acidic

C. basic

D. amphoteric

Answer: A::B::C

o Watch Video Solution

2.Boric acid is an acid because its molecule

A. contains replaceable H ™ ion


https://dl.doubtnut.com/l/_j5PswBAujqTw
https://dl.doubtnut.com/l/_Fv9S9JmUOunf

B. gives up a proton

C.combines with proton to form water

molecule

D.accepts OH ~ from water, releasing

proton

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Fv9S9JmUOunf

3. Which among the following is not a borane

?

A. BoHg

B. B3Hg

D. none of these
Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ra4aOnCAnHHz
https://dl.doubtnut.com/l/_SbGpSXL4Wtr9

4. Which of the following metals has the

largets abundance in the earth's crust?

A. Aluminium

B. Calcium

C. Magnesium

D. Sodium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SbGpSXL4Wtr9

5. In diborane, the number of electrons that

accounts for banana bonds is

A. six

B. two

C. four

D. three

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ahgDbsH4GwAn
https://dl.doubtnut.com/l/_rWbxvlG1Kz5H

6. The element that does not show catenation

among the following p-block elements is

A. Carbon

B. silicon

C. Lead

D. germanium

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_rWbxvlG1Kz5H

7. Carbon atoms in fullerene with formula Cy

have

A. sp° hybridised
B. sp hybridised
C. sp® hybridised

D. partially sp* and partially sp® hybridised

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_DD1pqCo2j4TQ
https://dl.doubtnut.com/l/_qBkdLRo0Ee2l

8. Oxidation state of carbon in its hydrides

A +4

C.+3

D. +2

Answer: A::D

° Watch Video Solution

9. The basic strutural unit of silicates is


https://dl.doubtnut.com/l/_qBkdLRo0Ee2l
https://dl.doubtnut.com/l/_tl2PmCJjIqOH

A (Si0;3)*~
B. (510,4)°~
C.(8i0) "

D. (Si04)*~

Answer: D

o Watch Video Solution

10. The repeating unit in silicone is

A. 510,


https://dl.doubtnut.com/l/_tl2PmCJjIqOH
https://dl.doubtnut.com/l/_f73noZgcfmgz

Answer: B::D

o Watch Video Solution

11. Which of these is not a monomer for a high

molecular mass silicone polymer ?


https://dl.doubtnut.com/l/_f73noZgcfmgz
https://dl.doubtnut.com/l/_A7oJfx8KE2NX

A. Me3SiCl

B. PhSiCls

C. MeSzClg

D. MeySiCl,

Answer: A::C

° View Text Solution

12. Which of the following is not sp?

hybridised ?


https://dl.doubtnut.com/l/_A7oJfx8KE2NX
https://dl.doubtnut.com/l/_IW8txWbHI2PS

A. Graphite

B. graphene

C. Fullerene

D.dryice

Answer: C::D

o Watch Video Solution

13. The geometry at which carbon atom in

diamond are bonded to each other is


https://dl.doubtnut.com/l/_IW8txWbHI2PS
https://dl.doubtnut.com/l/_6etQfKd1eQmx

A. Tetrahedral

B. hexagonal

C. Octahedral

D. none of these

Answer: A::D

° Watch Video Solution

14. Which of the following statements is not

correct ?


https://dl.doubtnut.com/l/_6etQfKd1eQmx
https://dl.doubtnut.com/l/_0R2sazlcOCo3

A. Beryl is a cyclic silicate

B. Mg5S510y is an orthosilicate

C. SiOi_ is the basic structural unit of
silicates

D. Feldspar is not aluminosilicate

Answer: A::C::D

° View Text Solution



https://dl.doubtnut.com/l/_0R2sazlcOCo3

15. AlF; is soluble in HF only in the presence
of KF. It is due to the formation of

A. K3|AlF5H;]

B. K3|AlF§]

C. AlH;

D. K|AlF; H]

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_GC45vERxknBs
https://dl.doubtnut.com/l/_5Yfbo2oBMEQ5

16. Match items in column - | with the items of

column - Il and assign the correct code.
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Answer: A::B::C::D

° View Text Solution



https://dl.doubtnut.com/l/_5Yfbo2oBMEQ5

17. Duralumin is an alloy of

A. Cu, Mn

B. Cu, Al, Mg

C. Al, Mn

D. Al, Cu, Mn, Mg

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_gxlboOBm1pxm

18. Thermodynamically the most stable form of

carbon is

A. Diamond

B. graphite

C. Fullerene

D. none of these

Answer: A::B

o View Text Solution



https://dl.doubtnut.com/l/_9FA6zumFQmiC
https://dl.doubtnut.com/l/_0kQUG3Ihtrhy

19. The compound that is used in nuclear

reactors as protective shields and control rods

is

A. Metal borides

B. Metal oxides

C. Metal carbonates

D. Metal carbide

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_0kQUG3Ihtrhy
https://dl.doubtnut.com/l/_EUVAPDKwVpQc

20. The stability of 41 oxidation state

increases in the sequence

AAl < Ga < In<Tl

B.Tl < In < Ga < Al

C.In < Tl < Ga < Al

D.Ga < In < Al < Tl

Answer: A::B::C::D

O Watch Video Solution



https://dl.doubtnut.com/l/_EUVAPDKwVpQc

Evaluation Answer The Following Questions

1. Write the short note on anamolous

properties of the first element of p - block.

o Watch Video Solution

2. (a) Describe briefly allotropism in p - block

elements with specific reference to carbon.

° Watch Video Solution



https://dl.doubtnut.com/l/_qNgAUxbWd3fe
https://dl.doubtnut.com/l/_Narc9A4VDp8j
https://dl.doubtnut.com/l/_goTVmdg6IUNP

3. Boron does not react directly with
hydrogen. Suggest one method to prepare

diborane from BF3.

o Watch Video Solution

4. Give the uses of Borax.

o Watch Video Solution

5. What is catenation? Describe briefly the

catenation property of carbon.


https://dl.doubtnut.com/l/_goTVmdg6IUNP
https://dl.doubtnut.com/l/_p0slXc9TozIw
https://dl.doubtnut.com/l/_vnXAVRtyDBFs

° Watch Video Solution

6. Write a note on Fisher tropsch synthesis.

° View Text Solution

7. Give the structure of CO and CO,.

° View Text Solution

8. Give the uses of silicones.


https://dl.doubtnut.com/l/_vnXAVRtyDBFs
https://dl.doubtnut.com/l/_R5gJ37qS3hv1
https://dl.doubtnut.com/l/_EAx0nA694Rkk
https://dl.doubtnut.com/l/_SHqCktFzRG72

° Watch Video Solution

9. AlCl5 behaves like a lewis acid. Substantiate

this statement.

o Watch Video Solution

10. Describe the structure of diborane..

o Watch Video Solution



https://dl.doubtnut.com/l/_SHqCktFzRG72
https://dl.doubtnut.com/l/_RiG0tow3gQya
https://dl.doubtnut.com/l/_5TAHsz1EsvWZ

11. Write a short note on hydroboration.

o Watch Video Solution

12. Give one example for each of the following
(i) icosogens (ii) tetragen

(iii) pnictogen (iv) chalcogen

o Watch Video Solution



https://dl.doubtnut.com/l/_LHV0nkYhRGOT
https://dl.doubtnut.com/l/_jmY7rNOLFeTl

13. Write a note on metallic nature of p-block

elements.

o View Text Solution

14. Complete the following reactions

B(OH), + NH; —

o Watch Video Solution



https://dl.doubtnut.com/l/_tB7iqhLqf0h9
https://dl.doubtnut.com/l/_K0xbhHKVJ1G8

15. Complete the following reactions

NCL2B407 + HQSO4 + HQO —

o Watch Video Solution

16. Complete the following reactions

B2H6 + 2NCLOH + ZHQO —

o Watch Video Solution



https://dl.doubtnut.com/l/_xMzB1sQ0atHk
https://dl.doubtnut.com/l/_1Yqq1xR7pP6A

17. Complete the following reactions

ByHg + CH?,OH —

o Watch Video Solution

18. Complete the following reactions

BF; + 9H,0 —

o View Text Solution



https://dl.doubtnut.com/l/_EWLAGKQVlgl1
https://dl.doubtnut.com/l/_cdAInU7dgYUf

19. Complete the following reactions

HCOOH + Hy504 —

o Watch Video Solution

20. Complete the following reactions

SiCly, + NH; —

o Watch Video Solution



https://dl.doubtnut.com/l/_hE9SPgqbSJ6J
https://dl.doubtnut.com/l/_HHYtsQvjwAeq

21. Complete the following reactions

SiCly + CoH;OH —

o Watch Video Solution

22. Complete the following reactions

B + NaOH —

o Watch Video Solution



https://dl.doubtnut.com/l/_on7mVer2fZHr
https://dl.doubtnut.com/l/_L653vEiqplyI

23. Complete the following reactions

Red hot
HQB4O7 —_—

o Watch Video Solution

24. How will you identify borate radical ?

o Watch Video Solution

25. Write a note on zeolites.

o Watch Video Solution



https://dl.doubtnut.com/l/_HTAtUAtLLAll
https://dl.doubtnut.com/l/_VCZcqaZA2iNv
https://dl.doubtnut.com/l/_cVkxAoIOZBdO

26. How will you convert boric acid to boron

nitride ?

o Watch Video Solution

27. A hydride of 2™ period alkali metal (A ) on
reaction with compound of Boron (B ) to give

a reducing agent (c) | dentify A, B and C.

o Watch Video Solution



https://dl.doubtnut.com/l/_cVkxAoIOZBdO
https://dl.doubtnut.com/l/_CHA4bZFuv9Bk
https://dl.doubtnut.com/l/_IzIvSdSL4FH3
https://dl.doubtnut.com/l/_VL5WbcwDhCUq

28. A double salt which contains fourth period
alkali metal (A) on heating at 500K gives (B).
Aqueous solution of (B) gives a red colour

compound with alizarin. Identify A and B.

° View Text Solution

29. CO is a reducing agent. Justify with an

example.

o Watch Video Solution



https://dl.doubtnut.com/l/_VL5WbcwDhCUq
https://dl.doubtnut.com/l/_C6FpfbogMgHR

Evaluation Evaluate Yourself

1. Why group 18 elements are called inert
gases ? Write the general electronic

configuration of group 18 elements.

° Watch Video Solution

Additional Questions And Answers Choose The

Correct Answer



https://dl.doubtnut.com/l/_D4Te5cWs8m0I

1. Lewis acid character of boron trihalides is as

a follows :

A. BF3 > BClg > BBTg > BI3

B.BCl3 > BF3 > BB’I°3 > B.[3

C. BI3 > BB’I”?, > BCl3 > BF3

D. BI; > BF5 > BCl; > BBry

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_YqQB3cPyRDBr
https://dl.doubtnut.com/l/_hxTj3HbAqBTo

2. Select the incorrect statement regarding
By Hg.

A. It contains B-B ionic bond

B. Each boron is sp® hybridised

C. It has two types of hydrogen bonds

D. it is used as a reducing agent.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hxTj3HbAqBTo

3. The stability of 41 oxidation state increases

in the sequence

ATl < In < Ga < Al

B.In < Tl < Ga < Al

CGa<In< Al <TI

D.Al < Ga < In < Tl

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_T5MClb4hX3ju
https://dl.doubtnut.com/l/_P5l3Y5RaJlHk

4. Which one of the following compounds has

similar structure to that of graphite ?

A. Boron nitride

B. Boron Carbide

C. Aluminium Carbide

D. Aluminium Oxide

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_P5l3Y5RaJlHk

5. Chemical formula of phosgene is

A.COCl,

B. CaOCl,

C. CCLCOg

D.COCI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Rih9TZc6cww9

6. Graphite has

A. 2-d sheet structure

B. Vander waals force between successive
layers of carbon sheets

C. sp’ hybridised carbon linked with other
three carbon atoms in hexagonal planar
structure

D. all the above

Answer: D



https://dl.doubtnut.com/l/_ZTOWUTHvv2cs

\ ° Watch Video Solution

7. S’iOi_ ion has geometry

A. Trinagular
B. Tetrahedral
C. Linear

D. Pentagonal bipyramidal

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTOWUTHvv2cs
https://dl.doubtnut.com/l/_r3D9gf0ZtGmp

8. Which one is correct statements for zeolite

A. Zeolites are aluminosilicates having

three dimensional framework

B. Hydrate zeolites are wused as ion

exchangers in hardening of soft water

C. Zeolites are alumino silicates

D. all the above

Answer: D



https://dl.doubtnut.com/l/_aJgz4BqUB8yg

I 0 Watch Video Solution I

9. Which of the following oxide is amphoteric ?

A. 510,

B.CO,

C. S’I’LOQ

D.CaO

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aJgz4BqUB8yg
https://dl.doubtnut.com/l/_rd7JYNBQNF68

10. Identify the electron - deficient species

A. (BH;),
B. (SiH3),
C. PH,

D. (CH;),

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UcfYcU3EXiKv

11. Which of the following statements about

H;BOs is not correct ?

A. It has a layer structure in which planar

BOs units are joined by H-bonds

B. It is a strong tribasic acid

C.It is prepared by acidifying an aqueous

solution of borax

D. It does not act as proton donor but acts

as lewis acid by accepting hydroxyl ion.


https://dl.doubtnut.com/l/_LA8176mwluaM

Answer: B

o Watch Video Solution

12. Boron compounds behave as lewis acid

because of their

A. ionisation property

B. acidic nature

C. covalent nature

D. electron deficient nature


https://dl.doubtnut.com/l/_LA8176mwluaM
https://dl.doubtnut.com/l/_2icLBtathoPS

Answer: D

o Watch Video Solution

13.In graphite, electrons are

A. localised on each C-atom

B. localised on every third C-atom

C. delocalised within the layer

D. present in anti-bonding orbital

Answer: C


https://dl.doubtnut.com/l/_2icLBtathoPS
https://dl.doubtnut.com/l/_eMuzafGj6vMo

° Watch Video Solution

Additional Questions And Answers Fill In The

HENS

1. On moving down the group 13, density

A. decreases

B. increases

C. First decreases then increases


https://dl.doubtnut.com/l/_eMuzafGj6vMo
https://dl.doubtnut.com/l/_bCnWPmSpQK27

D. remains same

Answer: B

° Watch Video Solution

2. Elements of group 13 mainly form covalent

compounds because

A. small size

B. electro negativity values are high

C. ionizatio energy is very high


https://dl.doubtnut.com/l/_bCnWPmSpQK27
https://dl.doubtnut.com/l/_Rig1CakDZMiq

D. both (a) and ( c¢)

Answer: D

o Watch Video Solution

3. Oxidation state exhibited by group 13

elements is

A.+1, +2and +3

B.+1and +3

C.+1and +4


https://dl.doubtnut.com/l/_Rig1CakDZMiq
https://dl.doubtnut.com/l/_qU4emUueNDU3

D.+2+ 3and +4

Answer: B

° Watch Video Solution

4. All elements except carbon have the

tendency to show maximum covalency of six

A. due to presence of vacant d-orbitals

B. due to absence of vacant d-orbitals


https://dl.doubtnut.com/l/_qU4emUueNDU3
https://dl.doubtnut.com/l/_uSvJmInYriDH

C.due to presence of partially filled d-

orbitals

D.due to presence of completely filled d-

orbitals

Answer: A

o View Text Solution

5. Aluminium is used for making alloys because

of its



https://dl.doubtnut.com/l/_uSvJmInYriDH
https://dl.doubtnut.com/l/_ZNCtJiR98uFX

A. resistance to corrosion

B. poor conductivity

C. heaviness

D. all of these

Answer: A

o Watch Video Solution

6. Group 14 elements have general electronic

configuration


https://dl.doubtnut.com/l/_ZNCtJiR98uFX
https://dl.doubtnut.com/l/_OMHEbrpuM3BP

A. ns2

B. ns2np4
C. ns2np6

D. ns2np2

Answer: D

o Watch Video Solution

7. Allotropy is due to

A. difference in chemical properties


https://dl.doubtnut.com/l/_OMHEbrpuM3BP
https://dl.doubtnut.com/l/_7HyYHKiRz0qs

B. difference in the number of atoms in the

molecules

C. difference in the arrangement of atoms

in the molecules in the crystal

D. None of these

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_7HyYHKiRz0qs

8. The silicates which contain

tetrahedral units are

A. ortho silicates

B. sheet silicates

C. pyrosilicates

D. three dimensional silicates

Answer: B

discrete

o View Text Solution



https://dl.doubtnut.com/l/_0I2DFAGvRAJH
https://dl.doubtnut.com/l/_ducJHf4Uv2xn

9. Silicones are

A. ortho silicates

B. water repellent thermal insulators

C. both (a) and (b)

D. None of these

Answer: C

° Watch Video Solution

10. Borax is



https://dl.doubtnut.com/l/_ducJHf4Uv2xn
https://dl.doubtnut.com/l/_DQ9dHMc2ssy0

A. NG,Q [3405(OH)4] 8H20
B. NCLz [B4O5(OH)6] 7H20
C. Na2 [B4O3(OH)8] GHQO

D. NCLz [B402(OH) 10] 5H20

Answer: A

° Watch Video Solution

Additional Questions And Answers Assertion

Reason



https://dl.doubtnut.com/l/_DQ9dHMc2ssy0

1. Assertion : In diborane containing eight -B-H
bonds, the four terminal bonds are covalent
Reason : Boron in By Hj is sp® hybridised.

A. Both assertion and reason are true and
the reason is the correct explanation of
the assertion.

B. Both the assertion and reason are true
but the reason is not the correct

explanation of the assertion.

C. Assertion is true but reason is false.


https://dl.doubtnut.com/l/_KhQmotD6Wrt4

D. Both assertion and reason are false.

Answer: C

° Watch Video Solution

2. Assertion : When borax is strongly heated it
forms transparent glassy bead.
Reason : Borax is the other name for sodium

tetraborate decahydrate.


https://dl.doubtnut.com/l/_KhQmotD6Wrt4
https://dl.doubtnut.com/l/_knqKTlA4pX8u

A. Both assertion and reason are true and

the reason is the correct explanation of

the assertion.

B. Both the assertion and reason are true

but the reason is not the correct

explanation of the assertion.

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_knqKTlA4pX8u

3. Assertion : Boric acid is weak monobasic
acid.
Reason : Boric acid gives one H " ion.

A. Both assertion and reason are true and
the reason is the correct explanation of
the assertion.

B. Both the assertion and reason are true

but the reason is not the correct

explanation of the assertion.


https://dl.doubtnut.com/l/_knqKTlA4pX8u
https://dl.doubtnut.com/l/_fY02h1cdKSNZ

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: C

o Watch Video Solution

4. Assertion : Fullerene is the purest allotrope
of carbon.
Reason : They have smooth structure without

dangling bonds.


https://dl.doubtnut.com/l/_fY02h1cdKSNZ
https://dl.doubtnut.com/l/_9h3EFi6BZeft

A. Both assertion and reason are true and

the reason is the correct explanation of

the assertion.

B. Both the assertion and reason are true

but the reason is not the correct

explanation of the assertion.

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_9h3EFi6BZeft

5. Assertion : Carbon has maximum tendency
of catenation among group 14.
Reason : C-C bond strength is very strong.

A. Both assertion and reason are true and
the reason is the correct explanation of
the assertion.

B. Both the assertion and reason are true

but the reason is not the correct

explanation of the assertion.


https://dl.doubtnut.com/l/_9h3EFi6BZeft
https://dl.doubtnut.com/l/_M4kD4FrTB1Wh

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: A

o View Text Solution

6. Assertion : Carbon shows an anomalous
behaviour in group 14.

Reason : Carbon has maximum covalency of 4.


https://dl.doubtnut.com/l/_M4kD4FrTB1Wh
https://dl.doubtnut.com/l/_JKwmAWu7gpLC

A. Both assertion and reason are true and

the reason is the correct explanation of

the assertion.

B. Both the assertion and reason are true

but the reason is not the correct

explanation of the assertion.

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_JKwmAWu7gpLC

Additional Questions And Answers Correct

Statement S

1.1. The boron occurs mostly as borates.

ll. Boron does not react directly with
hydrogen.

lll. The simplest borane is triborane.

IV. Boron combines with halogen to form

boron trihalides.

A.Only |


https://dl.doubtnut.com/l/_JKwmAWu7gpLC
https://dl.doubtnut.com/l/_Sqt67LiibQEE

B.Only lI

C.H&iv
D.,II &IV
Answer: D

o Watch Video Solution

2.1. Boric acid can be extracted from borax and
colemanite.
Il. Boric acid is a colourful crystal.

1. It is very weak monobasic acid.


https://dl.doubtnut.com/l/_Sqt67LiibQEE
https://dl.doubtnut.com/l/_dgoYpjYHsGHm

IV. It accepts hydroxyl ion rather than

donating proton.

A.Only |

B. Only Il

CLIN&IV

D. 1l & IV

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dgoYpjYHsGHm

3. 1. Aluminium chloride is obtained by heating
a mixture of alumina and coke in a current of
chlorine

ll.  Anhydrous aluminium chloride is a
hygroscopic substance.

lll.  Anhydrous aluminium chloride is a
colourless substance.

IV. Aluminium chloride is a lewis base

AL TT& T

B. Only II

C.Only |


https://dl.doubtnut.com/l/_nizwLT1kzYn9

D. Il & IV

Answer: A

° View Text Solution

4. Select correct statements from the
following:

l. Potash alum is a white crystalline solid.

Il. It is soluble in water.

l1l. It is used as a styptic agent

IV. The aqueous solution is base.


https://dl.doubtnut.com/l/_nizwLT1kzYn9
https://dl.doubtnut.com/l/_mvKezXAC0cuL

Al &IV

B. Only Il

C.Only

D. 1, 11 &I

Answer: D

° Watch Video Solution

5. 1. Graphene is an allotropic from of carbon

ll. CO is a strong reducing agent


https://dl.doubtnut.com/l/_mvKezXAC0cuL
https://dl.doubtnut.com/l/_i6LzuaykIEpi

l1l. CO is a poisonous gas.

IV. CO is used as a propellent

AL &

B. Only Il

C.Only

D. 1l & IV

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_i6LzuaykIEpi

Additional Questions And Answers Incorrect

Statement S

1. Identify correct statement/s from the
following:

(a) Boron has the capacity to absorb neutrons.
(b) Amorphous boron is used as a rocket fuel
igniter.

( ¢ ) Boron is essential for the cell walls of
plants.

(d) Boron shows reactivity at higher

temperatures.

| & I


https://dl.doubtnut.com/l/_weDx9El4o7Ja

| ¥ View Text Solution |

2. Identify correct statement/s from the
following:

(@) In diborane two BH, units are linked by
three bridged hydrogens.

(b) It has six B-H bonds.

( c ) Diborane is used as a high energy fuel for
propellent

(d) It is used in welding torches

o View Text Solution



https://dl.doubtnut.com/l/_weDx9El4o7Ja
https://dl.doubtnut.com/l/_yUBc951UFrnO
https://dl.doubtnut.com/l/_dW23exJUObWO

3. Find out the correct statement from the
following:

(@) Alum is potassium aluminium sulphate

(b) Alum is extrated form colemanite

( ¢ ) Anhydrous aluminium chloride a catalyst
in Friedels crafts reactions.

(d) It’s a Lewis acid

o View Text Solution

4. Identify correct statement/s from the

following:


https://dl.doubtnut.com/l/_dW23exJUObWO
https://dl.doubtnut.com/l/_Tm4AoCIoPJHP

(a) Carbon is found in the native form as
graphite.

(b) Coal contains large quantities of carbon

( c) Clay is important source for carbon.

(d) Carbon exists in many allotropic forms.

o View Text Solution

5. Find out the correct statement from the
following:
(a) General formula of silicones R,CO Si

(b) Silicones are high - temperature polymers


https://dl.doubtnut.com/l/_Tm4AoCIoPJHP
https://dl.doubtnut.com/l/_BawE8Wtjdnwk

( c ) Silicones are used for water proofing
clothes
(d) They are good thermal and electrical

conductors.

° Watch Video Solution

Additional Questions And Answers Very Short

Answer

1. How is boric acid extracted from borax ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BawE8Wtjdnwk
https://dl.doubtnut.com/l/_28eM4I0PDuhA

2. Explain the formation of boron trifluoride.

o Watch Video Solution

3. Draw the structure of borazole. B3 N3 Hy.

o Watch Video Solution

4. Mention the physical properties of boranes.

o Watch Video Solution



https://dl.doubtnut.com/l/_28eM4I0PDuhA
https://dl.doubtnut.com/l/_wCJXxgwjAXjk
https://dl.doubtnut.com/l/_6iX62OTh50bq
https://dl.doubtnut.com/l/_w2jHsk9n9GEO

5. Write the reaction of diboranes with water

and alkali.

° Watch Video Solution

6. What are the uses of boron trifluoride ?

° Watch Video Solution

7. What are alums ?

| N |


https://dl.doubtnut.com/l/_w2jHsk9n9GEO
https://dl.doubtnut.com/l/_NevhDSzfhNHI
https://dl.doubtnut.com/l/_reI9HP2uSUtj
https://dl.doubtnut.com/l/_qpG1Of1pc3Wu

| ¥ Watch Video Solution

8. What is burnt alum ?

° Watch Video Solution

9. Give the uses of alum.

° Watch Video Solution

10. What is phosgene ? How is it preparred ?

| N


https://dl.doubtnut.com/l/_qpG1Of1pc3Wu
https://dl.doubtnut.com/l/_HQSXHwZQl2pm
https://dl.doubtnut.com/l/_QOXMkKGaWbJe
https://dl.doubtnut.com/l/_d5lLEZFiNkzu

| ¥ Watch Video Solution

11. What is oxo process ?

° Watch Video Solution

12. What is water gas equilibrium ?

° Watch Video Solution



https://dl.doubtnut.com/l/_d5lLEZFiNkzu
https://dl.doubtnut.com/l/_WAfv9oQAhYnX
https://dl.doubtnut.com/l/_fkR5iLRS5Jpg

13. What happens to CO,; when dissolved in

water ?

o Watch Video Solution

14. What is tetraethoxy silane ? How is it

obtained ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KbeW8HGaDmSE
https://dl.doubtnut.com/l/_f6SYFBjL9wXY

15. Give the formula of chlorosilazanes. Explain

its preparation from SiCl,.

o Watch Video Solution

16. What are the uses of silicon tetra chloride ?

o Watch Video Solution

17. What are silicones ?

o Watch Video Solution



https://dl.doubtnut.com/l/_1l7V4vjU5rsI
https://dl.doubtnut.com/l/_cblnOF7Y1NyN
https://dl.doubtnut.com/l/_rBQTAH465Vwg

18. What is inert pair effect ?

o Watch Video Solution

19. Among group 14 elements, name

the most electro negative element

o Watch Video Solution



https://dl.doubtnut.com/l/_rBQTAH465Vwg
https://dl.doubtnut.com/l/_srHaLhiop8eH
https://dl.doubtnut.com/l/_jspyL1Xr32y4

20. Among group 14 elements, name

the most metallic element

o Watch Video Solution

21. Name the building block of zeolites. Why

zeolites have high porosity?

o Watch Video Solution



https://dl.doubtnut.com/l/_8g7dx36l76nl
https://dl.doubtnut.com/l/_mKlLWHtxLhlE

22. Silicones are used for making waterproof

fabrics. Give reason.

o Watch Video Solution

23. Diamond - bad conductor of electricity.

o Watch Video Solution

24. Name the two important ores of Boron.

o Watch Video Solution



https://dl.doubtnut.com/l/_hYzgl3FQHgQd
https://dl.doubtnut.com/l/_6SAO9fK1ZfPM
https://dl.doubtnut.com/l/_aG6vnms7zqDI

25. What is crystal field splitting energy?

o Watch Video Solution

Additional Questions And Answers Short Answer

1. Draw the structure of boric acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_aG6vnms7zqDI
https://dl.doubtnut.com/l/_dNV9ThUZvr4h
https://dl.doubtnut.com/l/_LuilKpXOYCkU

2. What are the uses of boric acid ?

o Watch Video Solution

3. What happens to boranes at high

temperatures ?

o View Text Solution

4., How is boron trifluoride obtained from

boron trioxide ?



https://dl.doubtnut.com/l/_HRbxK1AApbRt
https://dl.doubtnut.com/l/_MC6Xm9Nah5Fc
https://dl.doubtnut.com/l/_OQRJsnX6IIg9

View Text Solution

5. What are the uses of diborane ?

o Watch Video Solution

6. How is aluminum chloride prepared from

aluminum ?

o Watch Video Solution



https://dl.doubtnut.com/l/_OQRJsnX6IIg9
https://dl.doubtnut.com/l/_Nnn11oEAegHi
https://dl.doubtnut.com/l/_iOm5Umsfb4sw

7. How is aluminium chloride prepared

McAfee process ?

o Watch Video Solution

8. Give 3 uses of aluminium chloride.

o Watch Video Solution

9. Describe the structuure of graphite.

o View Text Solution



https://dl.doubtnut.com/l/_iQBkCgWyQZ5J
https://dl.doubtnut.com/l/_M8CcGsZzGais
https://dl.doubtnut.com/l/_p8JuncqCbsc2

10. Describe the structuure of diamond.

o View Text Solution

11. Describe the structure of fullerenes.

o View Text Solution

12. Describe the structure of carbon

nanotubes.



https://dl.doubtnut.com/l/_p8JuncqCbsc2
https://dl.doubtnut.com/l/_N3bYdC0tUqHb
https://dl.doubtnut.com/l/_BXbX3NAjO2rR
https://dl.doubtnut.com/l/_7eMyPHBH0IxL

o Watch Video Solution

13. Describe the structure of graphene.

o Watch Video Solution

14. Give 3 uses of carbon monoxide.

o Watch Video Solution

15. How is CO> manufactured ?



https://dl.doubtnut.com/l/_7eMyPHBH0IxL
https://dl.doubtnut.com/l/_9EKqJeOXcQA8
https://dl.doubtnut.com/l/_WPOmPZOdl562
https://dl.doubtnut.com/l/_H2t6ziPtlFlV

o Watch Video Solution

16. Find out the oxidation state of carbon in

each of the following :

CCLC2

o Watch Video Solution

17. Find out the oxidation state of carbon in

each of the following :

H,CO;

| & I


https://dl.doubtnut.com/l/_H2t6ziPtlFlV
https://dl.doubtnut.com/l/_5xtEZBQOLbeo
https://dl.doubtnut.com/l/_nTFPtwdvvWT9

| ¥ Watch Video Solution |

18. Find out the oxidation state of carbon in
each of the following :

HCN

o Watch Video Solution

19. Find out the oxidation state of carbon in
each of the following :

Cco

o Watch Video Solution



https://dl.doubtnut.com/l/_nTFPtwdvvWT9
https://dl.doubtnut.com/l/_pCoQunXWsx7t
https://dl.doubtnut.com/l/_Q18ltD6BSknr

20. Account for the followig :

CO is used in the extraction of metals.

o Watch Video Solution

21. Account for the followig :

CO is poisonous

o Watch Video Solution



https://dl.doubtnut.com/l/_Q18ltD6BSknr
https://dl.doubtnut.com/l/_ch8rKJtaf6q7
https://dl.doubtnut.com/l/_GKiIywvzV08k

22. Account for the followig :

CO, is used in referigeration

o Watch Video Solution

Additional Questions And Answers Long Answer

1. What are the various methods by which

carbon-di-oxide is prepared?

° View Text Solution



https://dl.doubtnut.com/l/_Q49n8RSnPEu8
https://dl.doubtnut.com/l/_aU0UtLMidxsw
https://dl.doubtnut.com/l/_nde7tickA1hS

2. How are silicates classified ? Give an example

for each type of silicate.

o View Text Solution

3. Distinguish between diamond and graphite.

o Watch Video Solution

Additional Questions And Answers Hots



https://dl.doubtnut.com/l/_nde7tickA1hS
https://dl.doubtnut.com/l/_e5cQpR5zq5Uo

1. Which one is more soluble in diethyl ether,
anhydrous AlCIl3 or hydrated AlCl3 ? Explain

in terms of bonding.

o View Text Solution

2. Starting from SiCly, prepare the following
in steps not exceeding the number given in
parentheses.

Silicon

o View Text Solution



https://dl.doubtnut.com/l/_4sStfBkiP68a
https://dl.doubtnut.com/l/_rfoVqF9J5tIc

3. Starting from SiCly, prepare the following
in steps not exceeding the number given in
parentheses.

Linear silicon containing methyl groups only

o View Text Solution

4, Starting from SiCly, prepare the following
in steps not exceeding the number given in

parentheses.

NCLQSiOg.


https://dl.doubtnut.com/l/_rfoVqF9J5tIc
https://dl.doubtnut.com/l/_aOuE223iET9w
https://dl.doubtnut.com/l/_HltuC1pRgM1d

° View Text Solution

Unit Test Choose The Correct Answer

1. Silicones are

A. Water repelling in nature

B. High in thermal stability

C.Botha &b

D. None of these


https://dl.doubtnut.com/l/_HltuC1pRgM1d
https://dl.doubtnut.com/l/_emiaUUxUSdHJ

Answer: B

o Watch Video Solution

2. Which of the following oxide is amphoteric ?

A. 510,

B.CO,

C. S’I’LOQ

D. CaO

Answer: C


https://dl.doubtnut.com/l/_emiaUUxUSdHJ
https://dl.doubtnut.com/l/_kvu4wHTWh6sz

° Watch Video Solution

3. Boron compounds behave as lewis acid

because of their

A. ionisation property

B. acidic nature

C. covalent nature

D. electron deficient nature

Answer: D

| 8 l


https://dl.doubtnut.com/l/_kvu4wHTWh6sz
https://dl.doubtnut.com/l/_1Hvn46yQ9W65

4. Formula for phosgene is

A.COCl,

B. CaOCl,

C. CCLCOg

D. COClI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1Hvn46yQ9W65
https://dl.doubtnut.com/l/_KrXHhj3mIBod
https://dl.doubtnut.com/l/_McBnON1CqA5f

5. Assertion : In diborane containing eight -B-H
bonds, the four terminal bonds are covalent
Reason : Boron in By Hj is sp’ hybridised.

A. Both assertion and reason are true and
the reason is the correct explanation of
the assertion.

B. Both the assertion and reason are true
but the reason is not the correct

explanation of the assertion.

C. Assertion is true but reason is false.


https://dl.doubtnut.com/l/_McBnON1CqA5f

D.Both assertion and reason are false

statements.

Answer: C

° View Text Solution

Unit Test Short Answer

1. What are the uses of silicon tetra chloride ?

o Watch Video Solution



https://dl.doubtnut.com/l/_McBnON1CqA5f
https://dl.doubtnut.com/l/_l5Ww9X6mJqYM

Unit Test Answer In Paragraph

1. Draw the structure of carbon dioxide.

° Watch Video Solution

2.How is C'O5 produced in the industry?

° Watch Video Solution



https://dl.doubtnut.com/l/_sX1JH76YMD1B
https://dl.doubtnut.com/l/_S9ggf6V297Ga

